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Level 2 Further Maths *

Laws of Indices CorbettmOtths
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Ensure you have: Pencil or pen

X

Guidance

1. Read each question carefully before you begin answering it.
2. Check your answers seem right.
3. Always show your workings

ﬁ .
Revision for this topic
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1. Write (x°)? as a single power of x

2 @ c*xc"=c8

Work out the value of n
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(b) =¥

Work out the value of m
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Work out the value of n
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y’ xy® — S 0

y* Xy Y tj/”l' :((j

Find the value of n

"
7

,rd‘q

J

.............................

4. (@) y*xy'=1

Work out the value of n
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(b) Simplify fully
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5. Work out the value of (2% - 2%)2
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6. (a) Simplifty (2xy?)*
o4 g
LE
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(b) Simplify (3x3y°)>
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7. Simplify fully (Zx V)
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8. -1<x<0

Write the following expressions in order, starting with the smallest.

X % % &
/(j 1:»0")/ {
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0 035 AL 24

(6xy°)’
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9. Simplify fully
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10. Write \3/ w 0% w2 asan integer power of w.
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11. Giventhat a =3* and b =3
(a) Write 3**!in terms of g
/\i p: j
3 X0

L x3 kYs

(2
(b) Write 3**Yin terms of ¢ and b
"’ ”
AL })
L * 13 ﬂb ..............
(1)
(c) Write 3% in terms of b
N\ L
4
(3 R
......................... (1)
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12.  Given that 125° = 25>

()= (s

.ZiHO
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13. Giventhat 16* = 410~

by
4/11 . Z{ ot

'_ 0 [9)
32 10 127 [ e
(3)

14. Find the value of y

2 x 4743 = 16
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16.  Find the exact values of w

3% = g x QTWHS

. 3 wth
3"" = 7 K[A) )

7 i Lt

V‘l ol -2 X 3

L ’}w‘l";
37 23

(./\11 3Lu 'f" l?
Hi = 3L«)" ’7* = O
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17. Solve
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